2020 CCA Self-Assessment Items
ICD-10-CM DX (1-12)

1. A 85-year-old male with emphysema presents to the ED due to moderate persistent asthma and COPD. What
diagnosis code(s) should be assigned?

a. J43.9,)44.9, )45.909

b .J43.9,145.40

c. J44.9,145.40

d. J45.40

2. Pancytopenia due to acute myelogenous leukemia (AML) is inherent in the AML and therefore never coded
separately.

a. True

b. False

3. A54-year-old female presented to the ED with profuse diarrhea. Earlier that day she had just finished
receiving a Cisplatin treatment for her colon carcinoma. The provider documented that the diarrhea was due to
the Cisplatin — what ICD-10-CM code(s) were assigned?

a. R19.7, T45.1X5D

b. K52.1, T45.1X5A

c. R19.7, T45.1X1A

d. K52.1, T45.1X5D

4. An elderly male presented to the ED after a fall. He was assessed and no injuries were found. However, the
workup did show an elevated troponin level. The patient was admitted for cardiology evaluation and discharged
with a diagnosis of non-traumatic myocardial injury. What ICD-10-CM diagnosis code should be assigned?

a. S26.90XA

b. 151.9

c. S26.19XA

d. 151.89

. Dr. Smith documented his impression after seeing Jack in his office. He noted that Jack had ‘aspiration
ronch|t|s What diagnosis code should be assigned?

J69.0

168.0

J40

J69.0 & J68.0
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What diagnosis code should be assigned for the diagnosis of ‘delirium of unclear cause’?
FO5

R41.9

F44.89

R41.0
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7. A patient presents to the ED in severe abdominal pain. The ED physician does an evaluation and testing and
documents final diagnoses of acute pyelonephritis with nephrolithiasis. What diagnosis code should be assigned?
a. N20.0

b. N10
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c. N10, N20.0
d. N12

8. Mary Jones’ discharge summary lists her final diagnosis as pneumonia of the left upper lobe. What diagnosis
code should be assigned?

a. J18.1

b. J18.9

c. J69.0

d. J18.0

9. Chronic conditions are only coded for outpatients if the chronic condition is documented by the provider in the
visit notes and treated during the visit.

a. True

b. False

10. A 50-year-old male patient is diagnosed with ‘mesenteric vein thrombosis’. What diagnosis code should be

assigned?

a. K55.069
b. K55.061
c. 181

d. K55.062

11. A 48-year-old female presents for her annual mammogram. The radiologist’s impression states: “lump of left
breast, overlapping quadrants”. What diagnosis code should be assigned?

a. N63.15
b. N63.0

c. N63.20
d. N63.25

12. Per the ICD-10-CM Official Guidelines for Coding and Reporting, any documentation that meets the
requirements to be part of the patient’s official health record based on regulatory or accreditation requirements
or internal facility policies can be used to assign codes for social determinants of health.

a. True

b. False

PCS (13-17)

13. In table OHR, what type of device does qualifier 2 Cell Suspension Technique apply to?
a. Autologous Tissue Substitute

b. Nonautologous Tissue Substitute

c. Synthetic Substitute

d. Other Device

14. What is the correct ICD-10-PCS code for EGD with ligation of gastric varices?

a. 06LY4zz
b. 06L272z
c. 06L28Dz
d. 06L287z

15. Patient presents for change of his gastrojejunostomy (GJ) tube. Contrast was injected into the gastric and
jejunal portions of the feeding tube. A guidewire was then advanced through the gastric port down to the level of



the jejunum. The existing GJ tube was removed and a new tube placed. What is/are the correct ICD-10-PCS
code(s) for this procedure?

a. 0D2DXuUz

b. 0DW68UZ, ODWD8UZ

c. 0D164JA

d. 0DP68UZ, ODPD8UZ, 0D168JA

16. Patient in cardiogenic shock with right ventricular failure undergoes ECMO. A sternotomy is performed, and
the arterial cannula is placed centrally into the aorta. The venous cannulation is placed peripherally in the femoral
vein. What is/are the correct ICD-10-PCS code(s) for this procedure?

a. 5A1522F

b. 5A1522G, 5A1522H

c. 5A1522H

d. 5A1522F, 5A1522G

17. What is the correct body part value if a pacemaker lead is inserted into the bundle of HIS?

a. Left Atrium

b. Right Atrium
c. Left Ventricle
d. Right Ventricle
CPT (18-27)

18. Patient presents with severe radiocarpal arthritis. A proximal row carpectomy and resurfacing of the capitate
is performed. What is/are the correct CPT code(s) for this procedure?

a. 25215
b. 25215, 25999
c. 25332
d. 25332, 25999

19. Patient presents for closure of PDA. Femoral artery is accessed, and catheter is advanced to the PDA. Closure
device deployed. Dye is injected, and pulmonary angiography is performed. What is/are the correct CPT code(s)
for this procedure?

a. 33820
b. 33820, 93568
c. 93582
d. 93582,93568

20. Patient presents for excision of multiple lesions of the larynx. A flexible laryngoscopy was introduced, and
multiple lesions were visualized. Laser excision was performed on the bilateral true vocal cords, as well as the
bilateral false vocal cords. What is the correct CPT code for this procedure?

a. 31572
b. 31572-50
c. 31540
d. 31540-50

21. Patient presents for repair of detached retina. Right eye was prepped and draped, and lid speculum placed.
Scleral buckling was performed with a 240 band. Retinotomy performed in the nasal periphery and subretinal
fluid was removed via cannula. Gas-fluid exchange was performed, and retina reattached. Photocoagulation was
then performed along the buckle and around the retinotomy site. Band was trimmed, conjunctiva closed and
eyedrops placed. What is the correct CPT code for this procedure?

a. 67107
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b. 67108
67105
d. 67110
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22. Patient presents for removal of a mass identified as lingual thyroid tissue at the base of the tongue. The plan
was to remove this endoscopically with the da Vinci. Cautery was used to incise the visible lingual tonsil tissue;
however, the robotic vessel sealer was unable to reach around the distal edges of the mass. The mass was then
excised endoscopically with the use of bipolar and monopolar cautery. What is the correct CPT code for this

procedure?
a. 41110
b. 41112
c. 42870
d. 42808

23. During pacemaker insertion, one lead was placed in the left atrium and one in the bundle of HIS. What is the
correct CPT code for insertion of the lead in the Bundle of HIS.

a. 33206
b. 33999
c. 33216
d. 33207

24. For 2020, E/M code 99444 has been deleted and replaced with three new codes. Under what type of Non-
Face-to-Face Services would the new codes be listed?

a. Telephone Services

b. Online Digital Evaluation and Management Services

c. Interprofessional Telephone/Internet/Electronic Health Record Consultations

d. Digitally Stored Data Services/Remote Physiologic Monitoring

25. What word was removed from code 64445 for 20207
a. Unilateral

b. Bilateral

c. Single

d. Multiple

26. Patient presents for removal of an implanted electrode strips from the left temporal lobe. Craniotomy is
performed with elevation of bone flap and the subdural array was removed. What is the correct CPT code for this

procedure?
a. 61535
b. 61537
c. 64999
d. 61531

27. What aspect of the E&M code 99457 changed in the 2020 description?

a. Minutes

b. Days

c. Months

d. Allthe above

General (28-30)

28. Elevated blood pressure readings should be assigned with which of the following codes:
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a. R03.0
b. 110

c. 1158
d. 116.0

29. When vaginal cuff repair is performed using an allograft during the same operative session as a total
laparoscopic hysterectomy it is coded separately.

a. True

b. False

30. Which of the following codes would be assigned for pseudoangiomatous stromal hyperplasia of the breast?

a. N61.0
b. N64.59
c. N64.89
d. N64.9



